AIRCRAFT !

CART & FRAME PARTS

ALUMIN
ke ( BASE PLATES )
PART # DESCRIPTION WT  PRICE
Direct /Gear Drive
P2135-F Base, 9-1/4”"x16” Powdercoated Steel, Fits KCSO88-KIT 645 -———-
1803 Base, 10” x 15” Aluminum w/4-TipHoles KCAOO7-PPS, 24 —- }
KCA007-DB, & KCA074
S1801 Base, 10”x 15” Aluminum w/5-TipHoles, Fits KCA007 & KCAOO7E 2.35 ——
‘ 1793D Base, 10”x 16” Aluminum w/5-TipHoles, Fits KCAO08, KCAOOSE, 369 --—-—- ‘
KCA009, KCA075, KCA075-RC,& PPWLMNT-1016
1631-F Base, 10”x 20” Powdercoated Steel w/5-TipHoles, Fits KCA076 872 —-
1431D Base, 10” x 20” Aluminum w/5-TipHoles, Fits KCA029, KCA030, 479 —- }
KCA031,KCA100, & PPLMNT-1020
1271 Base, 10”x 20”Stainless Steel w/5-TipHoles, Fits KCA032& KCA078 86 ——
1481D Base, 10” x 24” Aluminum w/5-TipHoles, Fits KCA040, KCA041, 609 ——- ]
KCA077, & PPWLMNT-1024
P8994-F Base, 16”x 24’ Powdercoated Aluminum, Fits KCA084Skid 12 —-
V-Belt Drive
P1656-F Base, 9.75” x 20”Powdercoated Steel, Fits KCA064 85 —-—-
(3401D Base, 10”x 20” Aluminum w/5-TipHoles, Fits KCAOGO& KCA0O61 51 ———- |
P3421 Base, 10" x 20" Aluminum, Engine Adjust. w/5-TipHoles, Fits KCA060-V2 -—
‘ P3431 Base, 10" x 20" Aluminum, Engine Adjust. w/5-TipHoles, -— ‘
Fits KCA061-V2& KCA069-V2
1604D Base, 10” x 24-3/4”Aluminumw/5-TipHoles, Fits KCA063 & KCA067 7.18 ——
Polychain Drive
P8987-F Base, 16”x 24” Powdercoated Aluminum, Fits KCAOS0& KCA081 12 ----
(PCA050-7 Sub-Base, Fits KCA080, KCA081, KCA084, & KCA087 607 -— )
( BELT GUARD PARTS )
PART # DESCRIPTION WT PRICE
Fits 10” x 20” Decks
3402D V-BeltGuard Back, Aluminum, Fits KCA060,KCA061,& KCA064 27 ——-
(3403D V-BeltGuard Cover, Aluminum, Fits KCA0O60, KCA061,& KCA064 315 -—-—-—- |
P3422 V-BeltGuard Back, Aluminum, Interlocking, Fits KCA060-V2&KCA061-V2 —-——
‘ P3423 V-BeltGuard Cover, Aluminum, Interlocking, -— ‘
Fits KCA060-V2, KCA061-V2 & KCA069-V2
P3426 V-BeltGuard Back, Aluminum, Interlocking, Fits KCA069-V2 ——
Fits 10” x 24-3/4"Decks
1605D V-BeltGuard Back, Aluminum, Fits KCA063,& KCA067 36 --—
(1606D V-BeltGuard Cover, Aluminum, Fits KCA063,& KCA067 44 ——-
1807D Tinnerman Nuts, Fits All V-BeltGuards, 8 Required 01 -—
(1314D Washers, Tinnerman, Fits All V-BeltGuards, 8 Required 01 -— )
1317D Screws, Tinnerman, Fits All V-BeltGuards, 8 Required 01 -—
Polychain Belt Cover
P8991-F Polychain Belt Cover, 3.75”Notched & Powdercoated 2.7 ——
PP8702H/2 (KCA085 Polychain Belt Cover, 3.75” Powdercoated w/Hardware 29 -
° ( TIRE/WHEELASSEMBLIES & BEARINGS )
PART # DESCRIPTION WT  PRICE
PP3304H,2 PP8702H/2 Tire/Wheel Assembly 4:10 x 3.50 x 4, Fits 3/4”Axles 3.3 -—
 (PP3304H/2 Tire/Wheel Assembly 11:00 x4 x 4, Fits 3/4”Axles 395 ———- )
Y XQ25166-99  Tire/Wheel Assembly 12", 13/500x 6, Fits 3/4"Axles 56 -—
BR34SW (DF80050 Tire/Wheel Assembly, Flat Free 13:00 x 5 x 6, Fits 3/4"Axles 707  ———- )
BR34SW Wheel Bearing, 3/4” .09 —-——
(BR58BB Wheel Bearing, 5/8” .09 -

DON'T SEE THE EXACT CART & FRAME PART THATYOU NEED, CALL US TODAY.



&

ALUMINUM FRAME

1419
—_ 1456P
| [
| 1434D

1219D

P8993-F

1230
A~
P8990-F i
149 061 602 001

‘?ﬁ CART & FRAME PARTS
AIRCRAFT GRADE

( HANDLES )
PART# DESCRIPTION WT  PRICE
Long (Front) Handles For 10”Wide Carts /Frames
(1804 Long Handle, Compact, Fits KCAOO7-PPS,1803Base 197 --——- )
1419 Long Handle, Compact Double Bend Fits KCAOO7-DB 172 —
(1439D  Long Handle, Compact, Fits KCAOO7E,& KCAOOSE 17— )
1456D Long Handle, w/3 Holes For Gun/HoseRack, Fits KCAO09,KCA031, 197 -——-

KCA041 & KCA067
(1433D  Long Handle, Fits KCA029,& KCA040 195 —— )
1418 Long Handle, Double Bend Fits KCAO08,KCA030,KCA060,& KCA063 198 ---—-
(1219D  Long Handle, Polished Stainless Steel Fits KCA032,KCA070,& KCA072 325 --— )
Short ( Rear) Handles For 10”Wide Carts /Frames
‘ 1434D  Short Handle, Fits KCAOO7-PPS,KCA007, KCAOO7-DBKCA008, 95 ———-
KCA030, KCA040, KCA060, KCAO61, & KCA063
1457D  Short Handle, w/3/8 Hole For Gun Rack, Fits KCA009, KCAO31, 99 ——-
KCA041, & KCAO67
(1258D  Short Handle, Polished Stainless Steel Fits KCA032,KCA070& KCA072 16 -—— )
Long ( Front) Handles For Pro-MaxSeries Carts
P8993-F Long Handle, Powdercoated Aluminum Fits KCA080,& KCA081 225 —- )
Short ( Rear ) Handle For Pro—MaxSeries Carts
(8992-F Long Handle, Powdercoat uminum Fits K e
Long ( Front) Handles & Parts For Pro-Jet Serles Roll Cage Carts
(4295 Long Handle, 10”Vertical Fits KCA100 195 —- )
4293 Roll Cage w/Gun/Wand Hanger Holes, Fits KCA100 25 -———-
(4294 Roll Cage Halve, Fits KCA100 25 —- )
Hand Carry Frame Handles & Parts
(S5002  Hand Carry Handle, Small Fits KHC001 225 —- )
S5001 Hand Carry Handle, Large Fits KHC002 26 ——-
(S4298  HoseReel Mounting Plate, Fits Hand Carry & 10”Handles 14 -— )
1913 Tube Cap, Red Plastic, Fits 4295,55001, & S5002, 2 Required 01 -—-

STAINLESS STEEL HANDLE WITH HOSE REEL ASSEMBLY KITS ]

PART # DESCRIPTION WT PRICE
HRKO050 Stainless Steel Long Handle w/D30001 -50’Hose Reel 1544  ——-

( HRK100 Stainless Steel Long Handle w/D30002 -100’Hose Reel 1764 -— )
HRK150 Stainless Steel Long Handle w/D30004 -150’Hose Reel 2244 -—

( HRK200 Stainless Steel Long Handle w/D30006 -200’ Hose Reel 23.19 a———

NOTE: Kits Include S4298 Hose Reel Mounting Plate, Jumper Hose, & All Required Hardware Needed,
Fits All Pressure-Pro10”Wide Carts

[ HOSE, GUN/WAND & TIP HOLDER PARTS )
PART # DESCRIPTION WT PRICE
PCA900 Hose Hanger Bracket, Fits 10”Handles .50 =

(1465 Gun/Wand Holder Bracket, Aluminum .05 — )
149061602001 Eye Bolt, 3/8"x2"(4” Overall) .15 —

(1230 Nozzle Holder Bracket, Universal 1 _— )
P8990-F Nozzle Holder Bracket w/Hose Hanger, Powdercoated 1.25 ——

Aluminum, Fits KCA080& KCA081
HHKO001 Hose Hanger Kit, Fits 10”Handles .53 _— )
GHK100 Gun/Wand Hanger Kit, Universal 28 ——
TRKO001 Tip Rack Kit, Universal 20 -— )
$4298 Hose Reel Mounting Plate, Fits Hand Carry & 10”Handles 1.4 ——




-%q CART & FRAME PARTS
AIRCRAFT GRADE

ALUMINUM FRAME
— ( AXLE RELATED PARTS )
r & ( PART # DESCRIPTION WT PRICE
1463 Axle Support, Galvanized Steel, Fits All 10”x20” 15 —-—
& Smaller Direct/Gear Drive Carts, 2 Required
3406D Axle Lock, Fits All 10”x20”V-BeltDrive Carts & 14 —)
10”x24” Direct/Gear Drive Carts, 2 Required
3404D Axle Lock, Fits KCA063& KCA067,2 Required 15 -—
225-029 Axle Bushing, Fits KCAO80& KCA081,2 Required 07 -—)
PPAX001 Axle Spacers, Aluminum, Fits All 10”x20”& Smaller 07 —-—
Direct/Gear Drive Carts, 2 Required
P1305C4D-F Axle Tube, 17-3/4”Coated, Fits All V-Belt Drive 16 —— ]
Carts & 10’x24” Direct/Gear Drive Carts
17-47247-P Axle End Caps, 3/4”Plastic Cover .02 —-—
P1305C4D-F 17-47247 Axle End Caps, 3/4"Stainless Steel Cover 09 -—)
PAX050 Axle, 3/4’x19.25” Cold Rolled Steel 25 ——
PAX050T Axle, 3/4"x 19.5" Cold Rolled Steel Threaded, Fits KCA0O08, 265 --—-
PAX150 [ KCA009, KCA029, KCA030, KCA031, KCA032 & KCA100 ]
PAX150 Axle, 3/4”x24.25” Cold Rolled Steel, Fits KCA040, 295 ——-
KCA067,KCA070,& KCA072
[PAx160T Axle, 3/4°x24.75” Cold Rolled Steel Threaded, Fits KCA041, 3.1  -——- ]
KCA060, & KCA063
PAX200T Axle, 3/4”x24.25” Cold Rolled Steel Threaded, Fits KCA0O80, 3.1 -—
& KCAO081
(130121620000 Nylock Nut, 3/4"Fits All Threaded Axles .05 -—)
( FOOT RELATED PARTS )
PART # DESCRIPTION WT PRICE
1802 Foot Bracket, Aluminum Fits KCAOO7PPS, KCAOO7-DB, .57 —
\ KCAOO7E, & KCA007
1467D Foot Bracket, Aluminum Fits KCA008, KCAOOSE, KCA009, 85 —-—

KCA029, KCA030, KCA030-DB, KCA030-HRK100,KCA031,
KCA040, KCA041, KCA060, KCAO61, KCA063, & KCA067

4297 1257D Foot Bracket, Stainless Steel Fits KCA032,KCA070,& KCA072 .35 —-——
(P8988-F Foot Bracket, Powdercoated Aluminum, Fits KCAOSO& KCAO81 147 ———- )
695-087-1000 Cart Foot Spring, Fits KCAO80& KCAO081,2 Required .02 -—
(235-070 Cart Foot Bolt, Fits KCA080& KCA081,2 Required 13 -— )
2 FF723-5 Cart Foot Bushing, Fits KCAO80& KCA081,2 Required .02 ——
' (4296 Side Foot, Aluminum Fits KCA100,2 Required 02 -—)
» 4297 Foot Plate, Aluminum Fits KCA100Roll Cage .85 —-——
1213 o 12 13 Angle Foot, Fits All Skid Frames Except KCAO84& KCA087, .25  ——— ]
4 Required

P8989—F Angle Foot, Powdercoated Aluminum Fits KCA084& KCA087 .39 ———

RUBBER FEET AND GROMMETS )
PART #  DESCRIPTION WT _ PRICE

2760 613 2.5” Rubber Foot Pad, Fits All Skid Feet, 4 Required 2 —-——
2860 Rubber Grommet, Black Fits 1/8 ThickMetal 02 -—)
2760 Rubber Grommet, Black Fits 3/16 " ThickMetal .02 —-——
RFK100 Rubber Foot Kit (613 +Hardware) w/1-1/2"Bolts 32 -—)
RFK120 Rubber Foot Kit (613 +Hardware) w/1-3/4"Bolts 32 -—
2775 Rubber Grommet, Black Fits 3/16”ThickMetal, 2”1.D. .05 —-—
2775 Fits 4-WheelHot Water Frames

DON'T SEE THE EXACT CART & FRAME PART THATYOU NEED, CALL US TODAY.
(504) 888-8989 or Toll Free 800-992- ‘7448



